X717 7"7'010 2,0 PR L7"02

Firstly, for a 22v is not called an “nx — MR PR KD 2297 N7

OVERVIEW

XP°R 277 7°72 KWW 21 asked; perhaps when the 770 writes 7an%n2 mnd 19
7IRPe R woRY, the term X WX refers (only) to the 02 [and we cannot
derive from this P10 the X"X 2n°7 by %¥2n nnon. To which *wX 27 responded
that a 02° is not referred to as an 'K w*X. Our MPOIN resolves a seemingly
apparent contradiction to this presumption of *wX 2.

MooIN asks:
— 9NN 9PN 0227 (3,1 97) ]n‘pb 192919N ’mmx nEA’RFPR A} A2

It is astounding! For concerning a 7R 77w the X7n) states later that a

a2y is referred to as "N -
— 9952 "N YNNI INNR YIND NTYN NN 9910 DN 9INPT

For the X7n) states if he sold the field to an 91X w°R and his brother is
included in the phrase 91X w*x! Why do we say here that a 02’ is not called an nx?!

N1B0IN answers:
— 9NN Y953 039 9N DTN Y93 1319Y ©YPHAT 3197 RYT Y Y

And one can say that the two n713 are not similar; for in a place where

the X wX is discussing all people then a 22’ is included in the 91X, which
is the case in the other X773 -
INPYT NN D 91 19 OX NPT DY NIMNT 190Y *va41 *Non Yax

However here where X"77 7°72 v"1 wanted to say that she is permitted

only to the 23%, then only the 22> specifically would be the 9nR; the x3
rejects this. The word nX cannot mean only the 02° for TnX *P°R X? 02 exclusively.

SUMMARY
A D02’ can be included with everyone when using the word 7nX; however 21X
cannot refer to a 02° exclusively.

THINKING IT OVER
What is the difference in m»01n thinking between the X*wp and the y17°n?

! Presumably because a brother is a (close) relative, and not merely ‘another’ person.

> A 7nnR 77w is an inherited field. If one is w>7pn his AnnR 77w, he has the option of redeeming it from
wpn. If the w*7pn fails to redeem the field and the 72 sells it (3,79 [’Mpna] Xp°1) I0R w°KR7, then when 220
comes, the field belongs to the 0°3715 (of that 9wn). The X3 (in 2,75 1°>7Y) explains that if the buyer was a
brother of the w>7pn the same rule applies since he is considered an 71X X (as opposed to if the son of the
w>Tpn bought it, then it does not revert to the 2373 on 22v). 77w A"7>"Ww12 2,10 1P7 1.

3 By a X 77w the 770 could not have written [1°1x?] (22°7) 77w NR 101 a1 for the same law applies to
everyone; however here if 91X ¥°X means only the 02’ the 770 should have written 1np> [1°1R] (22°)).
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